November 06, 2012

4-7 Identity and Inverse Matrices

Objective: Determine whether 2 matrices are inverses.

Find the inverse of a 2 x 2. M\ |\-\-\3 Ma\V K
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Determine whether each pair of matrices are inverses.
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Some matrices do not have an inverse. You can determine whether it
does or does not by using the determinant...

ad - bc = det Al(de‘rer‘minan‘r of A)..If the determinant of A is O, then the

- ) —
matrix does not have an inverse. =
How to find an Inverse of a 2x 2.
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Find the inverse. d‘-lﬂ"‘m"d- [0\ \n
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